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QUESTION 1

A potential Hitachi NAS Platform customer needs a fault tolerant network design using their two network switches.
Which two are required for meeting the customer needs? (Choose two.)

A. LACP
B. BGP
C.LAG
D. MPIO

Correct Answer: AC

QUESTION 2

A customer with a Hitachi NAS Platform 2200 (source) would like to relocate all the data to a new Hitachi NAS Platform
3080 (destination) using Incremental Data Replication with Transfer Primary Access (TPA). What is required before the
data migration can take place?

A. The source and destination nodes must be connected to the same storage system.

B. The external SMU must manage the source and destination nodes.

C. The source and destination nodes must be connected to different storage systems.

D. The clients of the source and destination nodes must have write access to the snapshots before and after the
replication.

Correct Answer: B

QUESTION 3

A customer is asking for a detailed description of clustering technology on the Hitachi NAS Platform cluster with multiple
GbE ports in the aggregates. Which two statements describe the automatic failover behavior? (Choose two.)

A. Only the EVS affected by a problem will failover to another node.

B. All EVS will failover when a GbE port in an aggregation fails.

C. An EVS will failover when all GbE ports in an aggregation used by an EVS fail.
D. An EVS will not failover when all GbE ports used by an EVS fail.

Correct Answer: AC

QUESTION 4
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A customer has configured two LAGs on their Hitachi NAS Platform 3090 cluster. EVS A uses agl and EVS B uses ag2.
In which case does EVS A failover?

A. The SMU quorum service is stopped.
B. All the EVS B file systems go offline.
C. All the GbE ports go offline from ag1l.
D. The cluster interconnect goes offline.

Correct Answer: C

QUESTION 5

A customer has a Hitachi AMS2100 attached to a 2-node Hitachi NAS Platform 3090 cluster. They initially purchased 15
TB and have just purchased an additional 5 TB. They now need to expand their existing storage pools. What must be
considered when expanding the storage pools?

A. All system drives must be of the same size in terms of capacity.

B. All system drives must be offline.

C. All system drives must be in the same system drive group.

D. All storage pools must be offline.

Correct Answer: A
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